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• Consider the following reaction at 298 K. 

 Ni2+(aq)  +   Zn(s)      Ni(s)  +  Zn2+(aq) 

Calculate ∆Go for the cell. (Relevant electrode potentials can be found on the data 
page.) 
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 Answer:   

What is the value of the equilibrium constant for the reaction at 298 K?  

 
 
 
 
 
 
 
 

 

 Answer:   

Express the overall reaction in voltaic cell notation.  

 
 

 

• Using a current of 2.00 A, how long (in minutes) will it take to plate out all of the 
silver from 0.250 L of a 1.14 × 10–2 M Ag+(aq) solution? 
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